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CHAPTER 1

+ Which of the following are corret?

@A) = ITI\_I @iy (A7) ' =(A") i) (247)= % A, A#0

(1) (i) only (2) (i) and (ii) only  (3) (i) and (iii) only (4) all
Which of the following are incorrect?

(1) A is non singular and AB=AC = B=C

(i) A is non singularand BA=CA = B=C
(i) A and B are non singular of same order then (AB)™' = B'A™

(iv) A is non singular then A = (A" )—I

(1) none (2) (i) and (ii) (3) (ii) and (iii) (4) (ii1) and (iv)
Which of the following is incorrect?
(1) adj(adj A)=| A" A (2) |adjAl= A"
(3) |adj(adja)| =A™ (4) (adjA)" = adj(AT)
A isof order n, A #0 then adj(1A) =
n—1 . n— | . 1 E

(1) A" adj(A) (2) A" *adj(A) (3) Zad’(A) (4) 1"adj(A)
If Aisa n,non singular matrix then [aa’j(zfl)]—l is

a4 1
(1) # adj(A™ and — B, () =adj(A™) and = % A

. 1
(3) #adj(A™) and % A 4) =adj(A™) and = 1 4

Consider the statements :
A : A is symmetric = adjA is symmetric
B . adj(AB)=adj(A)-adj(B)
Choose the correct option

(1) Both statements are correct

(2) Neither Statements are correct

(3) A is correct, B is incorrect 4) A is incorrect, B is ¢ t
orrec

: 1:; ozl_miozz;l and consider the statements and select the suitable option :
B : AA"=A"A=1
(1) A and B are true (2) A only true

(3) B only true * (4) both are false

Objective Type Questions - Created
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8. Which of the following are correct in the case of a rank of a matrix A of order mxn?
(i) rankof 7 is n
(ii) A isof order mxn then p(A) < min(m,n)

(iii) The necessary and sufficient condition to find inverse of an n xn matrix is p(A) =n

(1) all (2) (i) and (iii) (3) (ii) and (iii) only (4) (iii) and (iv)
9. In the case of Cramer’s rule which of the following are correct?
(i) A=0 (ii) A=0
(ii1) the system has unique solution  (iv) the system has infinitely many solutions
(1) (i) and (iv) (2) (ii) and (iii) (3)all (4) none
10. If p represents the rank and, A and B are nxn matrices, then
(1) p(A+B) = p(A)+p(B) (2) p(AB) = p(A)p(B)
(3) p(A-B)=p(A)—-p(B) (4) p(A+B)<n
CHAPTER 2

1. If J/-1=i and neN then
(l)l-4n+3 B _l (2) l-8n+2 :1 (3) i]()0n+4 — _1 (4) i4n+5 =1

2. Which of the statement is incorrect if i =+/—1 and z is any complex number?

(1) iz is obtained by rotating z in the anti clockwise direction through an angle %

(2) iz is obtained by rotating Z in the clockwise direction through an angle —725
(3) —z is obtained by rotating z in the anti clockwise direction through an angle .

(4) —iz is obtained by rotating Z in the clockwise direction through an angle 12r_

3. Find the correct statements.
(i) Conjugate of the sum of two complex numbers is equal to the sum of their conjugates.

(ii) Conjugate of the difference of two complex numbers is equal to the difference of their

conjugates.
(iii) Conjugate of the product of two complex numbers is equal to the product of their
conjugates.
(iv) Conjugate of the quotient of two complex numbers is equal to the quotient of their
conjugates.
f (1) all (2) (i) and (iii) only (3) (i) and (iv) only (4) (i), (iii), (iv) only
4. Identify the incorrect statement.
1
M |z[=1 = -=% (2) Re(z) <|z|
z
(3) Ilzll_‘Z2I|2|ZI+Z2| (4)IZ"|=IZ|"
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the locus of Z 18

5. If |z

(1) the perpendicular biscctor of line joining g,

[SIR)

and z,

(2) a line parallel to the line joining the points z, and z,

(3) a circle, where g, and z, are the end points of a diameter

(4) a line joining g, and z;.

6. Which of the following are correct statements?

() e =cos@—isind (ii) e 12,=
(iif) €™ = e ™" (cosx +isinx) (iv) ¢’ =¢"(cosy—isiny)
: (1) (i) and (iv) only (2) (iii) only (3) (i), (i) and (iii) (4) all
: 7. Which of the following are correct?
(i) arg(z, +z,) = arg(z,) +arg(z,) (ii) arg(z —z,) = arg(z,) —arg(z,)
(ili) arg(z,z,) =arg(z) +arg(z,) (iv) arg(;—;] =arg(z,) —arg(z,)

(1) (1), (ii) and (iv) (2)all (3) (iii) and (1v) (4) (i) and (ii)
8. Which of the following are incorrect?

(i) (cos@+isin@)™ =cosm@+isinm@if m is a negative integer
(ii) (sin@+icosf)" =cosn (g— - 49) +isinn (g— - 6?]

(iii) (cos@—isin@) " =cosmf+isinmd if m is a negative integer

(iv) (cos@—isinf)" =cosn@—isinnd
(1) none (2) (1) and (iv) (3) (i) and (ii) (4) (iii) and (1v)
9. In the case n " roots of unity, identify the correct statements.
(i) the roots are in G.P

(i) sum of the roots is zero

n+l

(iii) Product of the roots is (—1)

(iv) the roots are lying on a unit circle
(1) (i) and (ii) only - (2) (ii) and (iii) only (3) all - (@) (D, (ii) and (i)

10. cis12—5-8—7r is equal to

. 2
(1) as(—?”] (2) C,-S[Esz{] 3) cz's(%”) @ m(_i;i)

Objective Type Questions - Created 9.4
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CHAPTER 3

The statement “A polynomial equation of degree 1 has exactly 71 roots which are cither real or

complex™ is

(1) Fundamental thcorem of Algebra (2) Rational root theorem

(3) Descartes rule (4) Complex conjugate root theorem

Identify the correct answer regarding the statements

Statement A : If a complex number z, is a root of p(x) =0 then Z, is alsoa root.

StatementB  : Fora polynomial equation with real cocfficients, complex (imaginary) roots
occur 1n conjugate pairs

(1) Both are true (2) Both are false

(3) A is false, B is true (4) A is false, B is true

If p +\/Z§ and —i\/g are the roots of a polynomial equation with rational coefficients then the
least possible degree of the equation is
(M2 )1 (33 (4)4

i 2 (where p and g are co-primes), is a root of a polynomial equation
q
ax" -.‘-an_lx’"1 +---+a, =0, then identify the correct option.

Statement A : p isa factor of a, and g is a factor of a, .
Statement B : g is a factor of @, and p is a factor of a, .

(1) both are not true (2) both are true
(3) A is correct but B is false : (4) A is incorrect but B is correct
A polynomial p(x) of degree n is said to be a reciprocal polynomial if

1
(1) either p(x)= x"p( 1] or p(x)= —x"P(;)

x
1 . (1
(2) P(X):x"p(;) and p(x):—x p(}-)

1
(3) either p(x) = p(%) or p(x) = p[_;)

(4) p(x) = p(l) and pIE p(—lj
x x
Regarding Descarte’s Rule, which of the following are true, where s,,s, are the number of sign
changes in p(x) and p(—x) respectively.
(i) the number of positive zeros > s, (ii) the number of positive zeros < s,
(iii) the number of negative zeros <s, (iv) the total number of zeros =5, +5,

(1) (ii) and (iii) only (2) (i) and (iv) (3) all (4) none
95 Objective Type Questions - Created
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o o CHAPTER 4
CO N apeniodic tanetion wit period A% 4
(”‘” () (3) 2xn (@) 4=
Soosin? v con iy
( |) an odd funetion (2) an even function
\ (.?) neither odd nor even (4) ¢ither even or odd
Sy asindy then (he amplitude and period are respeetively
Y 27
(1 a2 ) |b), . (3) |a I',?,ff. (4) -”'7
h |(, I II)I
4oosinsin 'y - g
NHNE 4) x| =
(D Jx]=1 (2) |x]=1 (3) | x|« (41 D
S, sin Y(sina) = x if
T
(D [x]= (2)|x|<12’« (3)|x|2§ ) |x|=1
6. cos(cos™ x)=x il
(M |x]<1 2) |x|s] 3) |x[21 4) |x|=0
A 7. cos'(cosx)=x il
? T Vs
, (1)—-—2-5xs—2- (2 0<xszi . (3 0sx<7 (4) -1=sx<1
8. The amplitude and period of y =atanbx are respectively
w
) la), Z Q@) a,Z (3) not defined, 2~ (4) not defined, =
|| b | & b
9. The domain of cosec™ x function is
(M) R\(=LD (@) R\(=11) 3 [-%ﬂ 4) R-(0)
10. The domain of secant function and sec™' x function are respectively
/4
(O [0 72‘]\{-2-} and R\ (~1,1) (2) Z\(=1,1) and (0 n]\{f}
2
/4
(3) [0 ;r]\{—-} and (-1,1} (4) Z\(-1,1} and (0 n]\{f}
2 2
CHAPTER 5
I. If the point (a,b) satisfics the incquality x* + y* +2gx+2 fy +¢ <0 then (a,b)
(1) lies within the circle (2) lie on the circle
(3) lic outside the circle (4) can’t be determined
Objective Type Questions - Created 96
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The number of tan .
2. angents to the circle from inside the circle is

(1) 2 real ) 0

Co : ed
i (3) 2 imaginary (4) can’t be dctermine
3, Which of the following are correct

about parabola?

(i) axis of the parabola is axis of symmetry

(ii) vertexis the point of intersection of the axis

" and the parabola
(ii1) latus rectum is a foc

al chord perpendicular to the axis

iv) lengt : . ”
(iv) gth of latus Trectum is 4 times the distance between focus and vertex

(1) all (2) () and (ii) only  (3) (iii) and (iv) only (4) (i), (ii) and (iii) only
4. For the equation Ax? + Bxy + Cy? +Dx+Ey+F =0 if B>—4AC=0,

(1) e=1 and represents parabola (2) e =0 and represents parabola

(3) e=1 and represents a circle (4) e =0 and represents a circle

5. For the parabola (x—h)* = —4a(y—k), the equation of the directrix is

(1) y=k (2) y=a 3) x=k+a (4) y=k+a

2
6. For the ellipse (* —2h) + O —k) _ L, a<b
a b*

b D
(1)e=,/1—?<1 (z)e=,,1_25>1

a

2 2
@)e:,ﬁ—%;<1 m)e=,ﬁ+%;<1

7. Which of the statements are correct?
(i) The sum of the focal distances of any point on the ellipse is equal to length of major axis.

(ii) The difference of the focal distances of any point on the hyperbola is equal to the length of
its transverse axis

(iii) The values of a and b decide the type of ellipse.
(iv) The values of @ and b do not decide the type of the hyperbola
(1) Gi) and Gii) only (2) all (3) @ and Gi)only () (D) and (iv) only
8. Tn the general equation Ax”+Bxy+Cy’+Dx+Ey+F=0,if A=C=F and B=D=E=0
then the curve represents 7
(1) parabola (2) hyperbola (3) circle or ellipse (4) none of the above

9. If y=mx+c is atangent (o the parabola y* =4ax then the point of contact is

a_ 2a —a 24 3(—“—"2_“) 4(:_‘1_“"-_“]
() [?,_m,_) 2) (mz ’ m) & m’ , m ) m’ m

_ 97 - Objective Type Questions - Created
kindly send me your key answer to our email id - Padasalai.net@gmail.com of 2.



t.me/PRITEDUCATIONS
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

SS PRITHVI, PRIT~EDUCATION
www.Padasalai.Net. www.Trb Tnpsc.com of 2.

ooy .
wm:w ~1 1is ol the form
’ 2

(l

(1) cither y =mxv+ m or y=n - m
() either y =mx+vam® —b* andy =my~Na'm® ~ b’
(3) cither y =mx + m or y=Imx - m
(4) either y =mx+a*m® +b* and y =mx —Ja’m® +b*

1. y=mxr+c is a tangent to the parabola y* =4ax then

10. Equation of any tangent to the hyperbola -

e=l 2) c=2 (3) ¢ =d’m? +m’ (4 m=c
m T a
12. If y =smx+c is a tangent to the c.lllpsc — k-ly—z— =1 then
a* b '
(D) =a'm* +0* Q) BP=c*+a*m* 3) & =a’m* +m® (4) > =a’m’ -

2 2

13. The point of contact of the tangent y =mx+c and the ellipse f; + z—z =11is
a <

2 2
o(28) =l o=
c c (4 G (5 C C

CHAPTER 6
1. Which one is meaningful? '
(1) (axE)x(B-E) 2) ax(5+5) (3) (a-E)x(E-J) (4) (axb) (cx[i)

2. With usual notation which one is not equal to a - (b )

(1) -a-(éxb) @ ¢ (bxa) 3) -b-(¢xa) @) (cxa)-b
3. Identify the correct statements.

(i) If three vectors are coplanar then their scalar triple product is O .
(i) If scalar triple product of three vectors is O then they are coplanar

Gii) If p=xd+yb+z<
G =x,d+ y,b +2,¢
F=x,d+yb+2z8, and @b, are coplanar then P»q,r are coplanar
(iv) @,b,¢ and d are coplanar then (Ei xb)x(é‘ xd) =
(1) (i) and (ii) only (2)all (3) (i) and (ii) only (4) (i), (ii) and (iii) only

Objective,fiypp/Quastians ydefertsdanswer to our email98 - Padasalai.net@gmail.com of 2.


t.me/PRITEDUCATIONS
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

SS PRITHVI, PRIT-EDUCATION

Y

Pl M) Dadia Bl of L B 0T Tk Sk il UYL BN o L
Vo sty oo ST SRS S R s iy

Gl

7, et Ta b Ay MR
Ot o A

N T R Ac e

SIS A L AT A AR L N g sl B
WISy TR AR LRI

it b ke

= N e
R act e e

?
:

o

www.Padasalai.Net. www.Trb Tnpsc.com of 2.

4. The non-parametric form of vector cquation of a straight line passing through a point P
position vector 1s a and parallel to i is

(1) F=di+1ii @) F=ii 4 @) (F—ii)xd =0 (4) (F-ad)xii=0

5. Which one of the following is insufficient to find the cquation of a straight line?
(1) two points on the line |
(2) one point on the line and direction ratios of one parallel line
(3) one point on the line and direction ratios of its perpendicular line
(4) a perpendicular line and a parallel line in Cartesian form.
6. Which of the following statement is incorrect?
(1) if two lines are coplanar then their direction ratios must be same
(2) two coplanar lines must lie in a plane
(3) skew lines are neither parallel nor intersecting
(4) if two lines are parallel or intersecting then they are coplanar

7. The shortest distance between the two skew lines 7 =G+ and 7 =b +1ii 1S

7 |(b_|é;)>-<(;xv) R Uxv
@ [(E=3) @) NI 2 )
|a x5 , | |a

8. The non-parametric form of a vector equation passing through a point whose position vector is
a and parallel to two vectors ii and V is

) [F—i4, %7]=0 (@) [F-a, i,v]=0 @) [F-¥,&7]=0 @) [F—4, @,7v]=0

9. The non-parametric form of a vector equation passing through two points whose position
vectors are @ and b and parallel to & is

(1) [?—a b—d ﬁ]zo @) [f-a @-a i]=0
@) [F-i b-a =0 @ |[7-a b-a #]=0
10. Which of the following is/are false, in the case of a plane passing through three points whose

position vectors are d,b and ¢ ?

@) ['r'—a b-a ¢-ad|=0 Gi) [F-a@ da-b &-d]=0
Gii) [F-a b-a a‘—E]=0 (iv) [F—a‘ i—b a—a]=0
(1) (ii) and (iii) (2) (iii) and (iv) (3) all (4) none
99 Objective Type Questions - Created
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11. With usual notations which of the following are correct?
TR

(i) angle between F-ii, = p, and F-ii, = p, is related by cost) = -——-——-—'ﬁ | tﬁ 'l
! 2

fen

(ii) angle between 7 =d +#ii and the plane 7 -ii = p is related by sin@ = F il

: - - N TR)
(iii) the distance between a point with position vector 7 and the plane 7 -1 = p 15 ;-—Tﬁl\l*
: . iV
(1v) the angle between 7 =d +sii and 7 =b + v is related by cos@= l-l%nr—]
(1) all (2) (i1) and (iii) only (3) (i) and (iv) only (@) (i), (1) and (iv) only

12. Suppose you are given two lines which are lying in the required plane. In how many ways o
can find the equation of the plane? :
s (11 ()2 (3)3 44
| 13. What will be happened when finding the distance between two skew lines becomes zero?

(1) they are intersecting lines (2) they are perpendicular lines
(3) parallel lines (4) neither parallel nor intersecting

14. The shortest distance between 7 +@ + sii and 7= b +1ii is

(5~a xii b—a)xii b—ad)xi b—a)xii
1) —“l ﬂ) | ) ‘( ﬁ) 3) (—_)— ) (——)—
g i a b
CHAPTER 7
1. If ax®+by*=1 and a1x2+bly2=1 intersect each other orthogonally then which one _:,
incorrect?
1 1 1 1 1 1 1
e LD eet SN SN UE UL SIS G R JR §
a a, b a a b b a b b a a b b gq

2. “Let f(x) be continuous on [a,b] and differentiable in (a,b). If f(a)= f(b) then thex
exists atleast one point c € (a,b) such that S'(c)=0. This statement is

(1) Intermediate value theorem (2) Rolles theorem
(3) Lagrange mean value theorem (4) Taylors theorem
3. Lagrange mean value theorem becomes Rolles theorem if
D fB)=f@ @ f®)=f@ @) fla=0 @ f(»=0

4, i =i LT . :
For the function f(x)=sinx, xe [O, 5 } » Rolles theorem is not applicable, since

. . T
(1) not continuous in [OE] (2) not differentiable in ((), _’E_)
2
/4
B) fO) = f (5) (4) f'(x) does not exist at x=0
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5. Lagrange mean value theaee
g can value theorem, constant ¢ for the function y =cos.x in [m’—;—.%} is
D1
(D | @) -1 (3) not exist @) 0
6. Rolles constant ¢ for the function f (.\‘)==|x|, xe[—l l] is
10 '
i En) et ‘(2) 1 (3) -1 (4) not existing
. The 1 aclaunn’s series is obtained from the Taylors series by putting
‘ (‘1) ::‘?(75 (2) xX=0 (3) a=0 (4)a=n
8. I'H dpital’s Rule is not applicable for the limit tends to
(D 9 z
: (2) -0 3 = el
9. "If f(x) is continuous on [a,b] then f has both absolute maximum and absolute minimum in
[a b]”. This statement is
(1) Extreme value theorem (2) Intermediate value theorem
(3) Lagrange mean value theorem (4) Taylors theorem
10.

For the function f(x) , critical numbers are obtained by solving :

(1) F' () =0 if f'(x) exists; and the values of x for which f'(x) does not exist

(2) f'(x)=0 if f'(x) does not exist; and the values for which .f'(x) exists

(3) f'(x)=0 if f'(x) does not exist; and the values for which f'(x) does not exist

@) f'(x)=0if f'(x) exists; and the values for which f'(x) exists

11. Let ¢ be a critical number for f(x) then which of the following is incorrect?

(i) f'(x) changes from negative to positive through ¢ then f(x) has a local minimum

(ii) f'(x) changes from positive to negative through ¢ then f(x) has a local maximum

(ili) f"(c) exists and f"(c) changes sign through ¢ then (c, f(c)) is a point of inflection.

(iv) f"(c) exists at the point of inflection then f"(c)=0

(1) all (2) (i) and (ii) only ~ (3) (1) only (4) (), (ii) and (iv) only
12. If c is acritical point and f'(c) =0, further f"(c) exists then which is incorrect?

(1) f has arelative maximum at ¢ if f"(c)<0

(2) f has a relative minimum at ¢ if f"(c)>0

(3) f"(c) =0, there is no information regarding relative maxima

]
1
i
\
1
?
]
g
:
§
‘2
E
|
=
1
E
1
]

(4) f has arelative maximum at ¢ if f"(c)>0
1.
. The vertical asymptote of f(x)= < is
(1) x=0 (2) y=0 (3) x=c @ y=c
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14. The horizontal asymptote of f(x)= & is
X

(1) y=0 @) x=0 (3) x=c @ y=c
15. The slant asymptote of f(x)= %%l is

(1) x+y+11=0 @) x+y-11=0 (3) x=—5 CULI5TET
16. The vertical asymptotes of f(x)= ;2;2—;2 are

(1) y=+4 (2) does notexist ~ (3) x==%16 (4) x=14
17. The horizontal asymptote of f(x)= 2;2 _68 is

Wx=2 @ ye2 (3) y=24 o ) IR
18. The vertical asymptotes of f(x)==% : are

(1) x==1 (2)V‘y=-‘-‘i.1 A (3) x=0 “4) y=0
19. The horizontal asymptote of &)= x’f : is

(1) x=1 C @x=x1 (3 y=1 4) y=%1

]

| 20. The vertical asjmptotc of: L (A-:)7= &7 is

(1) x==1 s t(2) A1 (3) y=1 4) y=-1

i 2
| x

g 21. The slant asymptote of f(x) = is
| x+1

D) y=x+1 @ y=x-1 @ x=y-1 @) x=y
22. The vertical asymptotes of f(x)= 3x
VP42
1) x¥*-2 (2) does notexist  (3) x=+/2 @) x=—/2
23. The horizontal asyrhptotes of f(x)= i are
Jxr+2
(1) y=43 (2) x==%2 (3) y==%2 @ y=0
2
24. The vertical asymptote of f(x)= i—:%_—l is
X+
(1) x=-3 . (2) x=3 (3) does not exist (4) x=43
2
25. The slant asymptote of f(x) = Xisbr-l o
x+3
(1) y=x-9 (2) y=x+9 3)x=y @) x+y=0
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g, The vertical asymptote of £(yy _ " +6x-q .
5 (2) 3x~6
X= X =
0 x=3 @) y-2 @) y=3
0. The slant asymptote of J(x) = _\;_4__()\41 i
: 3x -6 )
a2 x 8
D Y=3"3 @) y=242 N red, 8 ~Z.8
_ _ CHAPTER 8
. 1dentify the incorrect statements
(i) absolute error = | Actual valye ~ app. value |
(ii) relative error = M
actual value
(i) percentage error = relative error x100
(iv) fizzolute error has unit of measurement but relative error and percentage errors are units
(1) all (2) () and (ii) only  (3) (i), (ii), (iii) only (4) none
2. If f(x)>0 forall x and g(x) =log(f(x)) then dg is
1) —— fde () 3) -1 A 4y 1 dx‘
fx) x f(x)dx &) x
3. If f and g are differentiable functions, then d(fg) is
(1) fdg +gdf 2) f-df —g-dg ~ (3) f-df +gdg 4) fdg — gdf
4 Let A={(x%,y)/x,yeR} and f: A>R?, f, =f, onlyif
(1) f,,f,, exist and continuous in A (2) f,,f, exist and continuous in A
() f.»f,, existand continuous in A (4) fy» [ exist and continuous in A
5. Let A={(x,y)/x,y € R} A function f:A—> R? is said to be harmonic if
'  u o’u 0’u
L § Rt Nl Lt 2 —-—-—:OV-’
()6x2+6y2 0V(x,y)eA 2 == e (x,y)eA
Fu_ ou o Ou_
6. If w is a function of x and y;and x and y are functions of ¢, then which of the following is
undefined?
ow ow Ox dy
1) = 2) — (3) = 4) —
Ox 2) Oy ot @ dt
103
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If w is a function of x and yjand x and y are functions of s and ¢ then which
following are correct?

v 1_‘ .
) iﬁ-‘- is not defined (i) o is not defined
dt ds
) v hi M &
(1) 11—‘- is not defined (iv) ?‘_t_:gig;{JrQEf_?)’_
dt Ot Ox ot Oy ot
(1) all (2) (1) and (iii) only  (3) (iii) & (iv) only (4) (i),(ii) and (iii) op
CHAPTER 9

. If f(x) is a continuous function on [a,b] and F(x) is an anti derivative of f(x) th

second fundamental theorem of Integral Calculus J'h Sf(x)dx =
(1) F(b)-F(a) (2) F'(b)—-F'(a) (3) F(a)-F(b) @0
If f(x) is a continuous function on [a, b] and F(x)= _[ : f(u)du, a<x<b then by

fundamental theorem of integral calculus é—i— F(x)=

(1) F'(x) @ F(x) W) @) f(D)+c
[ fla+b—x)dx= I8 \
W f@-f® @ [ s B0 @ [ f(oas
[ Fax=
1o @) 2| f(x)dx
3) a @ [* feodx+|; fa-x)dx
If f(2a—x)=f(x) then [ f(x)dx=
M 2 fde @ [ fxdx (3)0 @ [ fodx
If f(2a—x)=—f(x) then j:" F(x)dx =
M 2f fax @ [ fodx (3) 0 @ [} f(x)dx
[[[roo-f@a+b-xlx=
) fFBA-f@ (0 3) F(B)- f(a) @ 1
J‘“ S(x)
° f(X)+ fla-x)
(0o ) a OF: @) 2a
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9, If I, :fﬂ’ sin” xcos” xdx then I.,= (herenz2)

10.

11.

1.

n-1 n+1 n
I I, o) et n-—1 4 .
t m+n . ) n+n Frns (3) ml"”"”’ “) m+n :

i
If 7, :,L x7(1— x)"dx then I, = (heren21)

n o
peeac s, f s n .
m+n+1 """ (2) ,n+'1+l’lm.n—l (3) malm,n-l 4) mAn—

The values of .[(,1 ex"dx and “-r: e x"'dx are respectively

(1) m! and (n-1)! (2) (n+1)! and (n—=D!

(3) n! and (n—1)! (4) n! and (n+1)!
CHAPTER - 10

Consider the statements

A : The order of a differential equation (D.E) is the highest order derivative present in the
D.E .

B : In the polynomial form of D.E ., the degree of the D.E is the integral power of the
highest order derivative.
Identify the correct option

(1) both are correct : ~ (2) both are false

(3) A is true, B is false (4) A is false, B is true

Formation of a differential equation is

(1) eliminating arbitrary constants from the given relationship by minimum number of
differentiations

(2) eliminating constants from the given relationship by minimum number of differentiations

(3) eliminating arbitrary constants from the given relationship by maximum number of
differentiations

(4) eliminating constants from the given relationship

. Consider the statements :

A: The general solution of a differential equation is the solution which contains as many
arbitrary constants as the order of the D.E

B: Giving particular values to the arbitrary constants in the general solution of the D.E is the
particular solution.

(1) both are correct (2) both are incorrect
(3) A is correct, B is incorrect (4) A is incorrect, B is correct
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An cquation of the form f,(x)g,(y)dx+ f,(x)g,(y)dy =0 is called

(1) lincar differential equation

(3) linear differential equation of first order

A differential equation is said to be homogencous if
dy _ (2 dy o o Do, @ Y pem

(l)-——:g(-«) (2) Exm-:g(.w-)) (3) dx—&(»f)’) 4) o o )

dx X

(2) homogcncous
(4) variable Separahy,

A first order linear differential equation is of the form

(D %‘—’+Py=Q , where P and Q are functions of y
dx

(2) %";+ Py =Q, where P and Q are functions of y
y

3) g—‘-,- + Px =0, where P and Q are functions of y
X
dy ‘ :
@ p Py =Q, where P and Q are functions of x

(or) ;ﬂ + Px=Q, where P and Q are functions of y
y

The integrating factor of %'—F Py =Q is (P and Q are functions of x)

™ @ ™ @ @ I
The integrating factor of ;ﬂ +Px+Q'is (P and Q are functions of y)
@ "™ @ I @) el @ ™

Assume that a population (x) grows or decays at a rate directly proportional to the amoun
population present at that time i.e. A = kx , then
t

(1) k<0 if it is a growth problem
(2) k>0 if it is a decay problem
(3) k<0 if itis a decay problem and k >0 if it is a growth problem

4) k=0

10. The Newtons law of cooling (T — temperature of a body at any time ¢, 7, temperature of!
é surrounding medium) says '

dr dar

(1) = a (T-T,) @ —-=T~T, always
dr : e = B dt

(3) — =k(T' -T,),k is constant of proportionality 4) —=k(T-T)
dt (IT m
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The order and degree of e differential equation l{_\" =X+ y+5 are
dx
1 0.0 2) 0,1 3) 1,0 @ 11
A,y
The order and degree of the differential cquation (i’__:_] g ‘(%}‘) +6y =5cosdx are
dx dx
1 12,7 2) 4,3 3) 3,4 (4) 7,12
2y d’y
. The order and degree of the differential equation 51—1 H[dy) =X 108[ 3 J &
dx? dx d.
(1) 2. not defined ) 3,2 3) 2,3 (4) 2,2
d*y dy R
The order and degree of the differential equation 3( > J = 4+(——) are
dx dx
2;> 3 3,2
(D = 2)2,2 3) =,3 4)3,
2
The order and degree of the differential equation dy +(xy —cos x)dx=0 are
(D11 (2)1,0 (3) 0,0 4 0,1
The order and degree of the differential equation _ % + xy =cotx are
(1) 1,0 @) 1,1 (3) 0,1 4) 0,0
2
3, )3
The order and degree of the differential equation (fo ] sz +5— iyt +4=0 are
(1) 2,2 2 3,3 (3) 2,3 4) 3,2
dd f the differential equation dy 2 + dy 2 Xsin dzy are
1 —_— = = <
The order and degree of the q 2 I T
(1) 2, not defined (2) 2,2 ' (3) 2,1 4) 1,2
: y A dy dy
The order and degree of the differential equation —4—=—7x=0 are
Ndx  dx
(1) 2,1 (2) L1 , @) L2 4) 2,2
dy X
The order and degree of the differential equation y( ) = - are
@@
dx dx
1) 1,4 2) 4,1 3) 13 ) 31
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2|2
_ ,d'y I+ gb_’ =( are
21. The order and degree of the differential equation x -(—,;; i dx
4) 1,1
(1 2.1 2) 2,2 3) 1,2
3
d’ ) .‘Q. are
22. The order and degree of the differential equation (ﬁ) = ! '"( dx) l
% S s | 4) 2,4
(1) 2,6 “(2) 6,2 (32,3 (¥
2
23. The order and degree of the differential equation f-id;'—:- = xy + €05 (;1';) &
(1) 2,1 () 1,2 (3) 2, not defined @ 1]
d? d = X
24. The order and degree of the differential equation dxz +5?d_ic; +Iydx =x I8
(1) 3,2 @ 1,2 (3) 2.1 I
25 St o : (%)
- The order and degree of the differential equation x= ¢ are
(M L1 (2) 0,1 (3) 1,0 “4) 2,1
26. Radium decays at a rate proportional to the amount Q present. The corresponding differey;
equation is (k is the constant of proportionality)
dg dQ o dg
(1) ==k 2) =% = 3y ==k 4) —=k
> @ “2=0 3) = (4) =E=kQ
27. The population P of a city increases at a rate proportional to the product of population ang:
the _difference between 5,00,000 and the population. The corresponding differential equatio
(k is the constant of proportionality)
dP dpP dP dP
(1) —=P(50000- P 2) — =k(50000- P — = - —=
= ) (@) 7 ( ) (3) B kP(500000—-P) (4 7 kP
28. Fora cc_:rtain substance, the rate of change of vapor pressure P with respect to temperature [:
proportional to 'the vapor pressure and inversely proportional to the square of the temperat:
The corresponding differential equation is (k is the constant of proportionality)
dP P dP P dpP
=== () =k @ E L dr
d 2 I T 4) — =kP
s T T dr . T dr T ) dT
. 1A savmf amount (x). pays 8% .mteresF per year, compounded continuously. In addition, !
ncome ron;xanother mvestment is credited to the amount continuously at the rate of 400f
year. Then — =
dt
(1) —-S—x-+ 400 (2) 8 1
100 100" (3) 8x+400 (4) —— x+400
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30. Assume that a spherical rain drop cevaporates at a rate proportional to its surface area. The rate

of change of the radius (1) of the rain drop LiAE
dt

(k is the constant of proportionality and % > 0).
(1) kr ) k 3) -k (4) —kr

CHAPTER - 11

1. Arandom variable X is a function from

() S >R 2) R—>§ 3) S >N 4y =
2. X:S5— R issaid to be discrete random variable if

(1) range of X is countable (2) range of X is uncountable

(3) range of Xis N (4) rangeof X is R

3. PIX =x1,k=1,2,---n is called a probability mass function if
(1) PIX =x,]120 and Y P[X=x]=1 (2) P[X =x]>0and ) P[X =x]=1
k k

(3) PIX =x,]=0 and Y P[X =x]=1 (4) P[X =x]20 and D PIX=x]1=0
x p

4. Let X be a discrete random variable and taking the values x,,x,---x, with pm.f P[X =x.].
The cumulative distribution function F(x) is defined as

(1) P[X <x] (2) 1-P[X <x] (3) P[X < x] @) 1-P[X < x]

5. Which of the following are true in the case of c.d.f F(x)? (X isa discrete random variable)

(i) 0L F(x)<1 : (i) l_i)n_lF(x)zo and }ri_r}gF(x):l
(i) Plx, <X <k,]=F(x,)—F(x)  (v) P[X>x]=1-P[X <x]=1-F(x)
(1) (i) and (iv) only \ (2) (ii),(iii),(1v) only
3) (i), (ii), (iii) only 4) all
6. Let X be a continuous random variable. The function f(x) is saidtobe a p.d.f if
(1) f(x)>0 and [ f(x)dx=0 @ f(20 and [’ f(x)dx=1
(3) £(x)>0 and [/ f()dre=1 @) f(20and [ f()dx=0

7. For a continuous random variable, which of the following is/are incorrect?
(i) P[X =x]=0 and Pla< X <b]=F(b)—F(a)
(i) P[X =x]=1 and Pla<X <b]=F(b)~F(a)
(iii) P[X =x]=0 and Pla< X <bl=Pla<X <b]
(iv) Pla<X <b]=PlasX <bl=Pla<X <b] and P[X =x]=0
(1) (ii) and (iii) only (2) (ii) only (3) (i) and (ii) only  (4) (iv) only
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8. With usual notations, which of the following are correct?
(@) Var(X)=E(X) ~[EX)]
(i) Var(aX +b) = a*Var(X)
(i) EaX +b) = alk(X)+b

(v) E(X)= _[;f(x)(tv if X is continuous

(1) all @) @), Gii), Giyonly (3 (), (i), @) only () (D). I, (iv) onyy
9. If X isa Bemoulli’s random variable which follows Bernoulli’s distribution with paramet,
then

2
(D p=p,o=pg () u=pgo=p @) u=pgo=q- 4 H=P0 =pq

10. If X ~ B(n, p) then

(1) u=np,c* =np(1- p) (2) u=ngq, oc=np(1=p)
(3) u=np, c=np(1-p) (4) u=npg o =npq
CHAPTER 12
1. Which of the following is not a binary operation on R ?
(1) + L @- ' @)+ 4) x
2. The operation '-' is binary on | |
(1) N 2) 0\{0} C(3) R\{0) @ 0
3. The operation '+' is binary on
(1) R\{0} 2)C 3R 4) Z
4. The additive inverse do not exists for some elements in the set
(H R 2) -1<x<2 3) Z @ Q
5. The multiplicative inverse exists for each element in the set
(1) 2<x<2 (2) % (3) R\ {0} 4 C
6. The identity element under addition exists in :
(D) N ) C\ {0} (3) (0 o) 4) -3<x<3
7. The properties closure, associative, identity, inverse and commutative under addition satisf
the set
1) R @) N (3) {1,-1,0) 4) 0\{0)
8. The fourth roots of unity under multiplication satisfies the properties
(1) closure only (2) closure and associative only
(3) closure, associative and identity (4) closure, associative identity and inverse
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9. Which one of the following ig -

(1) 131+, 121 =[5)
3) 141,131 =[12]

10. Which of the following is not true?

(2) [0]+,,[121=[0]
(4) [5)%, [41=12]

(1) A Boolean matrix is a rcal matrix whose entrics are either O or 1

(2) The product | |
0 1{l1 o

(3) All identity matrices I, are Boole

oo 1Mo T 9

] is a Boolean matrix

an matrices
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| Chapter - 1 e

Qn.NO- 1 4 5 6 7 8
Key “ (n (@) 3) 4 1)

Chapter - 2
| Qu.No 1 2 3 4 5 6 7 8
;’/"«
| Key W@l |l | ol @] o] O

Chapter -3
|QuNo. | 1 2 3 4 5 6
| -
| Key @ 3 @) 3 1 1
i 3) 1) (

Chapter — 4
Qn.No. 1 2 3 4 5 6 7 8 9 10
Key 3 2) 3) 6)) @) (2) (6] 3) (1) 1)

Chapter — 5
QnNo. | 1 2" Flr'ds 4 5 6 7 8 9 10
Key ®m | @ »m || @] 3| @) 1) @
QnNo. | 11 12 13
Key €)) 1) 3
- Chapter — 6
Qn.No. 1 2 3 4 5 6 7 8 9 10
Key @ |l el |l@®|elojlo| || e
Qn.No. 11 12 13 14
Ki (1) (4) (1) (1)
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Chapter -7

Objective Type Questions - Created _ 114

QnNo. | 1 2 3 4 5 6 7 8 9 \,\0
Key @@l o] @@ e @] m \(1\,
Qn.No. 11 12 13 14 15 16 17 18 19 \20
Key 1) 4) (1) (1) 4) (4) (2) @ (3) \(\1)
Qu.No. | 21 22 23 24 25 26 27 W\
Ky [T@ [ O |0 |0 OO —
Chapter — 8 -
Qn.No. 1 2 3 4 5 6 7 -
Key 4) (D (1) D ® 3 1)
Chapter -9
QuNo. | 1 2 3 4 5 6 7 8 9 10
Key Wl e le oo | ole | oo
QnNo. | 11 |
Key 3
Chapter —10
QuNo. | 1 2 3 4 5 6 7 8 9 10
Key (€} @® ® 4 (1 4 ) D 3 (;
QnNo. | 11 12 | 13 14 | 15 16 | 17 18 19 | 20
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XII STANDARD MATHEMATICS
APPLICATIONS OF MATRICES AND DETERMINANTS

Choose the correct or the most suitable answer from the given four alternatives.

(1)If a matrix 4 is orthogonal then which of the following is/are true?

(i) 44" =1 (i) AA" =1 (iii) A"A" =1 (iv) A =A4"

(1) (i) and (ii) (2) (ii) and (iv) (3) (iii) and (iv) (4) (ii) and (iv)
QIf ‘17| =(AB)=1,|A|#0 and [ is the unit matrix, then the matrix B is the

(1) inverse of A (2) transpose of 4

(3) adjoint of A4 (4) cofactor matrix of 4

3) If A:(; _42J,then |4|(adj 4) is

(1) 4 2 @ 1 =2 3 3 4 2 (4)1001 -2
—3 1 )34 )10—31 3 4

(4) If A is a square matrix such that 4’ =1, then A" =
(1) 4 Q) £ @) £ 4) A

(5) If A is an orthogonal matrix then
(1) |4]=+2 (2) |4]=0 B) |4 =+1 (4) |4 = +3

a 0 0
(6) If A=|0 b 0|, then 4 '=
0 0 ¢

l 0 0 l 0 0 0 0 l 0 0 l
b a a b
1 1 1 ir
(H|o - 0 2[00 - 0 3|0 — 0 4|10 — u
c b b (F)
0 0 l 0 0 l l 0 0 l 0 0!
L a | i c | L c ] La i

[

(7) If A={2 3 4] thon rank of 44" 1
(H1 (2)2 3)3 40
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1> _=d2
Xy X y
A a, b] A a, dl dA d] b] i 4 -
= - = n = ; n ox ]_‘ ;
Yla, b7 |a, d, a Tla, b, e and y are respectively
1) B ang & @y 2 5 2L @y D& g B @2 g M
&2 ﬂg A3 Az Al &1 A

1 1

L2 2 e o 3 2 2
x ¥y .a Yy

(OIf a,b,c are positive real numbers then the following system of equations in x,y and z.

LSl S al o+ o has

a b c a b c a b

(1) infinitely many solutions (2) finitely many solutions
(3) no solution

(4) unique solution

(10)If the system of equations ax+y+z=0, x+by+z=0, x+y+cz=0, (where
a+1, b#1, ¢+#1) has a non-trivial solution, then the value of ; 4 ) 1 b - : ‘3
—a l-c¢ l-c
(1) -1 (2)0 3)1 (4) 2

(11) If |A‘ # 0, then which of the following is not true?
(1) (A7) =47

@) (4" =4
(3) 4" =|4"

(4) (adj4)" =(adj 47)

(12) If A is an invertible square matrix and & is a non-negative real number, then (k4) "' =

(1) k™ @) k] () —kd ! A1 4
k k
3 4 5
(13) If A=|-6 2 -3|then |4|=
8 1 7
| I 1
113 2y L 3) 13 4 =2
(1) (2) T (3) (4) 3
(14) If A is a non-singular matrix and 4> —24+2/=0 then 4" =
(1) I-4 @) %(1+A) @) I+4 4) %(!—A)

(15) If 4 :L‘ S-‘ and A’ +xI = yA, then the values of x and y are respectively
(1) €4 (2) 8,6 (3} 5,8) “4) (5,8
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XII STANDARD MATHEMATICS

Complex Numbers

Choose the correct or the most suitable answer from the given four alternatives.

(1)Which of the following is not true?

2

(1) i* =1 %)L j=0 (3) S+ =0 ) =
A I i

(2)Which of the following statement is not true?

-

(1) i is real (2) z+7z isreal
z
(3) z—Z is purely imaginary (4) zZ is real
3+4i : : ' .
3)If z= Y < the complex number @ which satisfies the equation z&=1 is
—3i
6+17i —6-17i —6417i 6+17i
1) o= 2) o= 3) w= 4) o=
(1) s (2) 53 3) < (4) s

(4)The set of points for which |z—2+3i|=4 is a circle with

(1) centre —2+3i, radius 4 (2) centre 2—3i, radius 2
(3) centre 2—3i, radius 4 (4) centre —2+3i, radius 2

(5)The complex number 3(005 % +isin 5—;] is equal to

3‘f +2i ()5—i @ -3 i, (4)%—%

(6)The modulus and principal argument of the complex number z=-2(cosf—ismb)
[where 0<f< %J are, respectively,
(1) 2,-6 2) 2,7-6 3) 2.6 4) 2,-7+86

(7)The value of (\/5—1')6 1s
(1) 2° &) -3¢ (3) i2° (4) —i2°

@If x+iy=(-1+i3) . then x is

(1) 2%° (2) 2% 3) -1 (4)1
SR ST -
(9If @ #1 is the cubic root of unity then - .1oa)+ca) g +{?a)+c 18
aw +b+co a+bw +cw
()1 ) -1 3) w (43 -
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XII STANDARD MATHEMATICS

THEORY OF EQUATIONS
Choose the correct or the most suitable answer from the given four alternatives.

(1) If a,fB,y are the roots of the equation x’+ax’+hx+c=0. The value of
(1+a)1+B)1+y) is
(1) (I+b)—(a+c) (2) A=-b)+(a-c) B)(1-b)—(a-c) 4
(1+b)+(a+c)

(2) 2x° —x*—2x+2=0(x)(2x—1)+ R(x) for all values of x. The value of R(x) is
1 1
(1)1 (2) 0 (3) : (4) =

(3) Roots of X’ +x* —4x—4=0 is
(1) ,-1,0 2) 331 (3) L,2,2 4) 2,-2,-1

(4) The value of x that satisfies f(x)=0 is called the
(1) root of an equation f(x)=0 (2) root of a function f(x)
(3) zero of an equation f(x)=0 (4) none of the above

(5) A monic polynomial which crosses the x-axis at —4,0, and 2 ; lies below the x -axis
between —4 and 0 ; lies above the x-axis between 0 and 2 is
(1) 2+ 2+* -8x (2) ¥ —2x* =8+ B) - -2x+8x (4)
B 1 ox® 4 8%

(6) A monic polynomial touches the x -axis at 0 and crosses the x-axis at 3 ; lies above the
x -axis between 0 and 3.

(1) —x* —3x7 @) h-3x° (3) 2 -3 (4) —x* +3x7

(7) The list of all possible rational roots for x° —4x” +6x+5

1 1 L. 5
1) £1,+5 2) £5.+— 3) £l +— 4) +— +— 45
(1) (2) - (3) : (4) a8
(8) The list of all possible rational roots for 7x° —x*+3
1) +1 8NN 45 @) 18l 4148 47
T 7 3
@) +4,+3 +1 4347 @) 24l #1147
777 373
(9) The list of all possible rational roots for 6x*+3x’ —3x* +3x—5
0 t1s2ss 0 £3 4105 (1S s 1 236
2727373767 6 5 B 5 B
O et P g b g ok @) Lisgisag et iyl o2
272733768 8585
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(10) The list of all possible rational roots for 3x* +7x’ —3x" +5x—12
M) #l,e32- 4241413 1, 1
272 3 4 4 6 12
@ Sl sgea s gt s g ? ] o L
22 3 4 4 6 12
1,2 4
(3) £1,42,43,44, 46,412, +— + = +—
3 Jght
(4) il,ﬁ,ﬂ,i@ilz,il,ig,ii
& 3 4

(11) Using Descartes Rule of Signs, the possible number of positive and negative real
zeros of P(x)=6x" —4x* +x+4

(1) 3 or 1 positive zeros, 3 or | negative zeros
(2) 2 or 0 positive zeros, 1 or 0 negative zeros
(3) 2 or 0 positive zeros, 2 or 0 negative zeros
(4) 2 or 0 positive zeros, 1 negative zero

(12) Using Descartes Rule of Signs, the possible number of positive and negative real zeros of
P(x)=6x°—9x" +x° —3x+18
(1) 4,2 or 0 positive zeros, no negative zeros

(2) 4 or 2 positive zeros, no negative zeros
(3) 4 positive zeros, no negative zeros
(4) 4,2 or 0 positive zeros, | negative zero

(13) Using Rational root theorem, the zeros of the polynomial 3x* —x* —9x+3 is

(1) =3,4B,—3 @355 () %,Ji—\/i @)
L5

(14) Using Rational root theorem, the zeros of the polynomial x* +3x’ —5x* —9x—2 is
L2 238 @) —1,3,-2++5,2—5
(3) -12,-2+3,-2-3 @) -1-2,-2++/5,-2-+5

(15) Using Rational root theorem, the zeros of the polynomial 2x* —17x" +59x* —83x +39
is

(1) 1,—%,2+3z‘,2—3i 2) 1,%,3+2i,3—2i

3 —l,é,3+2£,3—25 4) =% -—,243i,2-%
2

Ml:)

(18) If x+x"+>" =2+2>+2° then the roots of the equation 2=
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(1) 2,—1—+/6i,—1++J6i ) 2,-34&,-34@
2 2 2 2
(3) 2,—%”@,-%—;‘@ (4) 2,-1++J6i,—1—+/6i

(17) If a,b,c are the roots of x —px’+gx—r=0, find the vaiue of
(a+b—c)b+c—a)c+a-b):

() p’ -5 Z) 4pq— 1’ (3) 4xy—p’ —8r 4 4pg -8

(18) If x=-1is a zerc with  multiplicity 2of the  polynomial
PC= 3+ X+ P4 e k- 1, then value of F ic
(1)3 (2)2 (3)1 4 0

1i9) Acceriding to Descaric, Kules of Sigts, the number o possible nositive and negriive
real zeros of the polynomial P(x)=>5x"+x"+3x*—3x—1 are
(1) one posi‘ive and three nagative zeros
(2) onc positive and c:iier three or sue negative 25ius
(3) one positive and one negative zeros
(4) one negn*ive and either thiee or one positive zeros

(20) A polynomial P(x)of lowest degree and real coefficient that has zeros 0 (of
multiplicity ?),2i, and iis
(1) /4= x"+9x" + 4x° @ Sx)=x"+ 354 +4x°
(3) PGy e +11x’ 4) PG)= x°- 3ix*- 2x°
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XIT STANDARD MATHEMATICS

INVERSE TRIGONOMETRIC FUNCTIONS

Choose the correct or the most suitable answer from the given four alternatives.

(1) The principal value of sin[cot'l (COt”TT[D is equal to

3 J3 1 1
iy 2 B L iy
(1) 5 (2) > (3) 5 4) 5
I i
(2)The value of tan(-—sm —] is
2 4
447 4-\7 447 431
1 gy N 3 4
(D 2 (2) z (3) B (4) 75
(3)The range of the function sin(sin'1x+cos"]x), [x|£] is
(D [—1,1] () (-1,1) 3) {0} 4) 1’1}
(If 4sin' x+cos™ x=r, then the value of x is
1 1 1 3
) = B ) Phn. 4 22
(D 5 (2) 5 (3) B 4) 5
(5)The value of cos ™' (cos12)—sin "' (sinl2) is
() 0 2=n (3) 8n—24 (4) 9+ 24

(6)If 0 =sin ' x+cos ' x—tan 'x, x>0, then the smallest interval in which 0 lies is, given by

T T T T 3n T
1) —<0<— 2)0<h<— 3) —<0<— 4) ——<6<=<0
()4 <2 (2) 4 3) 5 1 4) 1
(DIf cos ' x=tan ' x, then sincos ' x) is
1 1
Ok @) 3) x 4) x°
Q) an! [ _SO5% ]2
e (l+sinx
T X T X T X T X
I} —-= 2) i =t 4) < +=
()32 ()42 ()3+2 ()4+2
(OIf cos ' p+cos ' g+cos” r=m, then p° +q° +r° +2pqr=
T T i
o 2) — 3) — 4) —
(D ()4 3) 3 4) p
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(10)If x* +y* +z° =r”, then tan"(ﬂ}+tm'l{g]+tan'1(£J=
zr Xr yvr
T T
1) — 2) — ) m 4) 0
(1) 5 (2) 2 3) 4)

(1DIf a<tan'x+cot ' x+sin"' x <h, then the values of a and b is

(1) a=0, == @ a=Z, b=  (3)a=0 b=x @ a=Z b=1x
4 4 2
(I2)If cos”' x+cos” y+cos” z=3x, then x'* + ' + 21 _3 is equal to
(1) 1 2 0 (3~ 42
(13)If A=tan'x, xell , then the value of sin2A is
2x 2x 2x 1-x?
() — 6) (3) — @ —
T=g 1—x2 I+x I+x
(1DIf 0<x<oo, then cos"[ —x;] equals
I+x
(1) 2tan'x (2) 2tan'x (3) m—2tan'x (4) 7+2tan'x
o
(15)If sin’ = +cos ' L= =4tan ' x, then
1+ x° B
(1) xe[l, 0)u(—=0,—-1) (2) xe[-1,1] (3) x€[l, x) (4) xe(—o,—1)
-1 —F -, | l LR 1 .
(16)If sec” x=cosec y, then cos —+cos — is
X v
T T
)0 2) & 3) — 4
(1) (2) . (3) 5 4) =
: e -1 a3
(17)The equation sin ' X —coS X =C0s 25 has
(1) no solution (2) unique solution
(3) infinite number of solutions (4) finite number of solutions.

(18)The complete set of solutions sin™' (sin 5)> X —4x is
(1) |x-2|<v9-27 (2) x-2|>v9-27
(3) |x<v9-27 @) |x|>v9-27

(19) The vuue of tan"(tz‘:-.i: -5j) is
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(1) =—6 (2) 27—6 3) #+6 4) 27 +6
(24:)iF x satisfies ¢ in equation .~ --x —2> 0. thes a value exist: it
(1) sin'x (2) sec' x (3) cos'x (4) none of these
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XII STANDARD MATHEMATICS
TWO DIMENSIONAL ANALYTICAL GEOMETRY-II

Choose the correct or the most suitable answer from the given four alternatives.

x-1’  (r=2)°

(1)The vertices of the elipse 3 = any
(1) (3,4) and (-3,4) (2) (4,3) and (-4,3)
(3) (5,2) and (-3,2) 4) (1,6) and (1,-2)

(2)The line PP is a focal chord of the parabola y* = 8x and if the coordinates of P are (18,12) then

the coordinates of P’ is

2 -4 -2 —4 -2 -4 2 4
1) | —,— 2) | —,— | —,— 4y —,—
w23 e(23) o232 @iz
(3)The equations 4)” —50x =25x* +16y+109 represents
(1) a parabola (2) an ellipse (3) acircle (4) a hyperbola

(4)The ellipse x* +4)° =4 is inscribed in a rectangle aligned with coordinate axes which inturn
inscribed in another ellipse through the point (4,0) . Then the equation of the ellipse is
(1) x> +16y* =16 (2) ¥*+12y* =16  A3) 4x*448)y* =48 (4)

4x° +64)° =48

(5)The eccentricity of an ellipse, with its centre at the origin is 3 If one of the directrices is x =4,

then the equation of the ellipse is
(1) x* +4y* =1 @3t +4y* =12  (3) 4’ +3)° 4) 4x° +3)° =1

(6)The locus of a point (&, f) moving under the condition that the line y =ax+ f is a tangent to

2 2
the hyperbola — _y_’ =1
a b
(1) an ellipse (2) a circle (3) a parabola (4) a hyperbola
xE y2
(7)For the hyperbola ~ =1 . Which of the following remains constant when & reverses

2 L.
COS ¢ sm o

(1) eccentricity (2) directrix
(3) abseissae of vertices (4) abseissae of coci

|
(8)A focus of an ellipse is at the origin. The directrix is the line x =4 and the eccentricity is 2 Then

the lenzth: :f the semi-maior axis is

kindly send me your key answer to our email id - Padasalai.net@gmail.com of 2.


t.me/PRITEDUCATIONS
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

SS PRITHVI, PRIT-EDUCATION

www.Padasalai.Net. www.Trb Tnpsc.com of 2.

8 2 4 5
1) = o3 g g} gu 4) =
()3 ()3 ()3 ()3

(9)The radius of the auxiliary circle of the conic 9x* +16)° =144 is

()7 (24 ()3 45

(10)Find the equation of the circle whose diameter is the chord x + y =1 of the circle x” +y* =4.
() X’ +y*—x—y-3=0 () X+ )y +x+y-3=0
(3) X + y =y —8=0 4) X’ +y*—x+y-3=0

(1DIf x4+ y=k is normal to y* =12x, then k is

(13 (2)9 (3) -9 (A&
x2 2
(12)The radius of the circle passing through the foci of the ellipse 6 % % =1 and having its centre at
(0,3) is
(1) 3 ) 4 (3)5 @7

» 2
¢ locus of the point of intersection of two perpendicular tangents to the ellipse —+—=
(13)The locus of the point of i ion of two perpendicular tang he ellipse " i

9
(D) x* £ =9 (2) %* 4y (3l + y* =25 4) x*+)y* =4
x2 V2
(14)The number of tangents that can be drawn from the point (4,3) to the hyperbola il -; =11is
(12 (2)3 (3)4 @

(15)If the line y =3x+ A and touch the hyperbola 9x* —5y” =45, then the value of A is
(1) +3 2) +2 (3) +6 (4) +/5
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XII STANDARD MATHEMATICS

APPLICATIONS OF VECTOR ALGEBRA
Choose the correct or the most suitable answer from the given four alternatives.
1
(D)If & is a vector perpendicular to both b and ¢ | then
gk g i PR s
() a+b+c=0 (2)a>(b c)=0
T T T r
@ a’ (b §)=0 (4)£’(b+§)=0

r Lir r Ihyr - § T, Iy f
(2)If a,b,c are any three vectors such that (a + b)xc = (a- b)>‘c,then (a’ b)’ c is

1 0 @ & (3) b ) ¢

I~ & B '_ 4 ” 7 r = A A g, I INT. .
B)Ifa=i+ j+k, b=-i+2j- 4k and ¢ = 2i+ 3j- k,then (a b){a ¢) is equal to
(1) - 36 (2) 64 (3) - 64 (4) 36

L. A By, ;
(4)The vector a (b c) is coplanar with the vectors

(1) &,¢ 2) &,b (3).b,6 @) 4,b,¢

—

(5)A particle is acted on by a force of magnitude 5 units in the direction 2i - 2}‘+ k and is
displaced from (2,3,4) to (6,4, 8), then the work done by the force is

50 50 25 25
1 — 2— 3 — 4) ==
()7 ()3 ()3 ()?

(6)The torque of the force 13 = 3i+ 2_}— 4k about the point(2,- 1,3)acting through a point(1,- 1,2)
is
(1) 2i- 7j- 2k Q) 2i+7j- 2k
@) - 2i- j+ 2%k @) - 2i- 7]+ 2k

(7)A vector perpendicular to 2i + j‘+ k and coplanar with i+ 2}'+ k and i+ }'+ 2k is
) 5(j- k) @ 5(j+ k) )i+ 7j- k @i+ 7j+k

x-3 -4 3
8)If the straight line Al 4 =2 lies in the plane 5x- y+ z= p, then the value of p is
1 ¥ P

7 3
(1) 2 2)-3 (3) 8 4)9
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-1 +1 z-1 -3 -k
(9)If the lines x2 = y3 = 2 and xl A intersect, then the value of k is
9 2 3 2
1) = 2)- — 3) — 4) - —
(1) 5 (2) 9 (3) 5 4) 3

(10)The equation of plane through the intersection of the planes x+ 2y+3z- 4= 0 and
4x+ 3y+ 2z+ 1= 0 , and passing through the origin is
1) 7x+4y+2z=0 2)17x+14y+11z= 0
3) Ix+y+4z=0 4 17x+14y+z=0

(11)If the planes ;{35— 2‘;"+ 2!;)2 17 and rr‘>(4;+ 3_}— mIE)Z 25 are perpendicular, then the
value of m is

(13 (2)-3 3)9 4)-9

(12)The non parametric form of the vector equation of the plane passing through (3_,4, 5) and parallel
to the plane x+ 2y+ 4z= Sis

| - ~ i -~ A
(W) i + 2+ 4k)= 24 @ roi + 27+ 4k)= 31

3) ?{f+ 2j+ 4k)= 42 (4) ;{5+ 2j+4k)=13

(13) The equation of the straight line passing through (4,= 4,7) and parallel to z — axis is
x-4_y+t4_z-7 x-4_y+4_z-7

1 2
& 1 1 0 % 0 1 1
x- 4 +4 z-7 x- 4 +4 z-7
() == @ ===
1 0 0 0 0 1

(14) The angle between the planes ;{25- j’-l- k)= 16 and ?r‘>(;+ ;+ 2;'2)= 19 is
4 14 P 4

R — AR 3)— 4) —

(1) p (2) A ( )2 4) 3

(15) The direction cosines of the line x= y= z are
1

I 1 11
) 2) 11,1 53y /3.48,43 L 4R
( )3 3°3 (2) 3) 4) 3 \ﬁ NG

x-1_y+3 z-2

(16)The point of intersection of the line witk (he plane3x- Zy+ z=11 ir

3 =
M (L,- 3,2) 2 (- 1,3,2) (3) (0,6,0) 4) (0,- 6,0)
(17) The .cordinates of VABC where 4,5,C are ihe points of intesecaon  of the plane

6x+ 3y+ 2z= 36 with the coordinate axes, is
(1) (2,4.6} 7){4,6,2) (3) (6.4.%) (4:{0,2,4)
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(18) Distance of the point (2,3,4) from the plane 3x- 6y+ 2z+ 11= 0 is

(o ()1 (3)2 (4)3

(19) If the line ;l; = (a]f+ azj’-!- a3§)+ r(f'f+ m}+ nkA) is parallel to the plane

r r T
rr'>(af + bj + ck)= d , then

L L
I m n I m n
(3) al+ bm+ cn= 0 4) ax,+ by, +cz,=d

- - ~

(20) The angle between the straight lines = (.'.'+ 2j+ 3k)+ S(Zf+ 57+ 4kn) and

= (f- 27+ 3}§)+ 1(f+ 2] 3!5) is

% P P /2
il ki 3y 4) =
(e oy )5 (07

(21) The cquation of the steaight line passing through {4 5,6) and perpendicular to the plane

i+ 3]- 5k)=10is
) r= (4 + 5j+ 6k )+ 1(F+ 3]~ 5k) @ r=(+3]- Sk 1(4i + 5 + 6k)

@) = (4 5j+ 6k)+ 1(F- 37+ 5k) @ =17 3]+ 5E)+ (i + 5+ 6k
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12 STD Chapter 7 MATHS

A stone is thrown vertically upwards from the top of a tower 64 ft high according to the law s =
48t — 16t°. The greatest height attained by the stone above the ground is

a. 100 ft b. 64 ft c. 36ft d. 32ft

The volume of a sphere is increasing at the rate of 1200 cm/sec. The rate of increase in its

surface area when the radius is 10cm is

3.

10.

11.

12.

13.

14.

a. 120 sq.cm/sec  b. 240 sq.com / sec ¢. 300 sq.cm / sec  d. 400 sq.cm / sec

A man of 2m height walks at a uniform speed of 6km/hr away from a lamp post of 6m height.
The rate at which the length of his shadow increases is

a. 3km/hr b.2km/hr ¢.3/2km/hr d. 1 km/ hr

. T . b
The point on the curve 3* = xwhere the tangent makes an angle -anh X- axis

11 11
. b.|—,— == d. (4,2
v @) (5] (3] 2

The curve x* —xy + y° =27 has tangents parallel to x — axis at
a. (-3,6) and (3,-6)  b.(3,6) and (-3,-6)  c.(-3,6) and (-3,-6)  d. (3,-6) and (-3,6)
The normal to a curve y = f(x) is parallel to the x — axis if
¥ _o b. 2~ 0 e Loy d. Yoy
dy dx dy dx
Let f (x) =+/x + 4 the values of c that satisfies the mean value theorem for the function on the

interval [0,5]

2 2 b. 2.25 C: 2.5 d. 2.75
o0 2n
; X
The series Z( -1)" W 4" is a Maclaurin series expansion for the function
n=0 n. 2
a. Cosx b. Cos 2x c.sin x d. sin2 x

In which of the following intervals the function y(x)=x"—3x* —9x+5 is always decreasing?

a. (-1,3) b. (-3,3) c. (-4,4) d. (-2,2)
The function f(x)= §+ 3 decreases in the interval
3 x
a. (-3,3) b. (—0,3) c. (3,) d. (-9,9)
log x |
The maximum value of is
X
2 1
a. 1 b. — c.e d. —
3 e
The maximum area of a rectangle that can be inscribed in a circle of radius 2 units is
a. 8msq.units b. 4msq.units ¢. 8sq.units d. 4sq.units
The maximum value of xy subject to x+y=16 is
a. 8 b. 16 R d. 64
. sin 7wx
Im — =
—-2 x —4
a. _E bo +£ Co_z do +£
4 + 2 2
. Fse tne functin: y =€" —X =t ¢ =0is
a. Concave up b. concave down
c. an inflection point d. The function is not differentiable
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1. f y=(x>=5), x = [ dx = 0.02 then dy =
a) 21,6 b) 2,16 ¢) 7,6 d) 0,72

2. If y=x+cosxand x= %dx=0.02then dy is

a) 0.1 b) 0.01 c) 0.001 d) 0.025
. 5
3. If f(x,y)=x cosxy find f. at [2, Z]
V3 — 7 r ~-7
a) — b) — c) — d) —
) )= ) / ) T
3 3
4, If u= tan‘l[x i }md f = tanu then the degree of the homogenous function f is
Xy
a) 3 b)1 c)2 d)o
x* +y? . .
5. fu= log{ - J and ¢" = f then the degree of [ is
a) 0 b)1 c)2 d) 4

i ou
6. If u=y" then — is equal to

a) ulogy b) u logx c) xp* d) !
7. I £(x,)=x*y+ )y x+xy+5for all Vx,y el *then L (-12)is
oxX

a) 2 b) 0 ¢) 4 d) -4
; : i £ . ou *u .
8. An harmonic function u is a defined asu/(x,y)=¢ " sin2y then ) + > is
28 3
a) u b) —u c)0 4) e"
9. If w(x,y)=)"—3x’y+x’,x,y € R then the linear approximation of W at (1,-1) is
a) 4-3x b)4x-3  ¢©)0 4)-3
: or
10. If x=rcosé,y =rsinthen 6_is equal to
4
a) cosd b) smné@ c) tan @ d) cosecd
u. o
11.If u =;then xi—”+yﬂis equal to
X2 +y2 ox a}"
| 3 -1
a) —u b) u g it d) u
) 5 ) ) 5 )

Xy ox

12.If u = log(x_ +’vh}then xﬁ@+y@is equal to
- oy
a) 0 b) u ) 2u du’

13. Given u=e* + )’ then Z;i isequalto a)3u b)u ¢) 3x’u d) 3y’u
1

_— , o’u
14.Xf u=ax’ +by* +cz* +2 fyz +2gzx + 2hxy and Z? =0 then
X

a) a=0 b)a+b+c=0 ¢)b=0 4h)c=0

15. Linear approximation of fan xat x = Ois a)-X b)* ¢ 0 d) E
kindly send me your key answer to our email id - Padasalai.net@gmait.com of 2.


t.me/PRITEDUCATIONS
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

SS PRITHVI, PRIT~-EDUCATION

10.

11.

12.

13.

14.

15.

12 STD www.Padasalgifgiter 9 WWW.Trb Tnpsc.com o{ZATHS

Applications of Integration

If L 3x%dx = 8, then the value of a is
a) 1 b) 3 04 d)2

1 3 ”
. The value of J x’e” dxis
4]

1
1 1 =(e-1) =le-1)
a) —(1-3) b) —(1-e¢) 63 d) 2
3 2
If LJ? dx=4a J‘; sin2x dxthenais  a)3 b) 4 09  d)12
The value of |2 prex loa (ot ®) v o Z b) 0 o A=z
0 Cos2x 2 8
The value of I] tan "' (L_ljjdx is a) 0 b) e c) d) 2
0 l+x—x" 4 2

The area of the region bounded by the curve y =x’and the line y =4is

10 32 20 25
a) — b) — c) — d) —
) 3 ) 3 ) 3 ) 3
The value of _[3vadx is a) il b) & c)r d)2x
0 14cos” x 4 2

Jy o e =7 [ f (it
8l f(2a—x)EJE) b)f(2a—x):—f(x) ) fla—x)=f(x) d) fla—-x)=—f(x)

The area of the region bounded by the line x—y =land x —axis x=-2andx = 0 is

a) 4 b) 3 05 )7
B 1 s 4

The value of J.jcosSZx a) 212 b) 512 ) 512 dy 512

The value of jo x* e? dxis a) 3 29 b) 3 /8 c) 39 d) 328

The volume of the solid generated by revolving the region bounded by the curve y=x’, about
y — axis and between the linesx=0and y=1is

3r 27 1 4z
a) — b) — c) — d —
) 5 ) 5 ) S ) )

The volume of the solid generated when the region enclosed by v =Jx s, ¥y=2and x=0is
revolved about the y — axis is

32 22 42
a) =% b) =% g 18 d) =
5 5 5 5
The value of J‘_Eﬂ xsinx dx is %) 0 b) 2 c) 4 d)5
1;
The value of L x’e*dxis a)e-1 b) e-3 c) e-2 d) e-4
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12 STD MATHS
3
&rye
1. The degree of the differential equation Wi -y 2 _ 8=01is (a) 6 (b) 4 (c)3 (d) 2
X" @

d v 3
2. The solution of the differential equation d_y+ sm- y= Ois (a) y= cotx+c m x= COt’V"‘ C (o) y+ cosy=~c
X

(d X+ cosx=c¢

: _ d d d’? g
3. y= Ae™ + Be ™ is a solution of the differential equation (a) —y+ my = 0 m —y- my = 0 («© Jj"‘ my= 0
dx dx dx”

" s
d—=- my=20
“dx' J

dy 5 . .
4. The integrating factor of the differential equation d—J k- ycotx= dx+ x° cotx is(a) lOg COSX (b) IOg S X (c) COS X (d) SIn.X
X

d
5. The differential equation yd—y + X = C represents the family of  (a) parabolas (b) circles (c) ellipses (d) hyperbolas
X
d w))ml 2 2 1 1 1 1 2 2
6. The solution of Y- E-E s@ Y- x*=cm)y-x¥*=ceox’ty=e @x’+y*=c
dx X0
. . . . . 4 dy = ¥ x - by -y
7. The integrating factor of the differential equation (X “F -];-i- l)a— 1 is (a) € (b) € (o) € (W)e
dy .
8. Consider the following statements : 1. The general solution of a:_] (x)+ X is of the form y=y (X)+ C, where C isan
dy .
arbitrary constant. II. The degree of — = j (X)+ X is 1.
dx
Which of the above is/are true? (a)onlyl (b) onlyII (c) both I and II (d) neither I nor II
.3
xg*y0f &
9, The degree of the differential equation g—j: +e®=0is @2 m1 (©)3 (d) not defined
X 0

’ 2

10. The differential equation of the family of curves } = A(x + B) ,where A and B are arbitrary constantsis (a) yysﬁ: (yﬁf)
2

® 2vE= (V9 © 2= ye+ry @ 2=y y
11. The differential equation of the family of curves }'= Acosax+ BSiI‘lax,where A and B are arbitrary constants is (a)

y€ra’y=0 myg a’y=0 © y¢ray=0 @y ay=0

.2 el
&lyo  &ixQ

12. The order and degree of the differential equation )= X é‘d—i == é'd—g are respectively (a) 1,4 (b)4,1 (¢)1,1 (d)2,1

X0 Vo

13. The slope of a curve at any point is the reciprocal of twice the ordinate at the point and it passes through the point (4,3). The equation of
2 2 2 2
the curveis (a) X~ = }- 5 WX =y+5 @y =x+5 @y =x-95
dy x .
14. The solution of the differential equation d_ =Xk y,y(O): 0is (a) y=e + x- 1 b y=¢€ - X- 1
X
©y=e"+x+1 @y=e"- x-1
dy _ 2y
15. The equation of the curve passing through (1, 1) and satisfying the differential equation d_ ==X = 0, y >0 is
X X

Ky
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12 STD CHAPTER -11 PROBABILITY THEORY MATHS
1) Arandom variable X has the following probability distribution
X —2 -1 0 |
PX=x)|1-a | 1+2a | 1-2a | 1+a
4 . 4 .
1 1 1 1
(1)‘a’ can have any real value (2) —<a<—- 3) ——<a<— @-1<a<l
! 3 2 2
A random variable X has the following probability distribution
X 2 [5] 6 7
P(X) 1 3 3| %
10 10 [ 10
Find the mean and variance of X . (1)5.4,2 (2)5.8,2.16 (3)5.8,2 (4) none

3)

4)

5)

6)

7)

8)

9)

A box contains 10 tickets. 2 of the tickets carry a price of .8 each, 5 of the tickets carry a price of .

4 each, and 3 of the tickets carry a price of .2 each. If one ticket is drawn, what is the expected
value of the price? (1) 3.4 (2)2.8 3) 3.1 4) 4.2
When a coin is tossed thrice, the probability distribution of X when X assumes values of getting no

3 3
head, one head, two heads , three heads is formed. Variance on X'is (1) / 2) s 31 @2

A random variable has its range = {0,1,2} and the probabilities are given by P(X =0)=3k",

| b2

P(X =1)=4k—10k>, P(X =2)=5k—1, where k is a constant. Find k. (1)1 (2)2 3)3 (4) -

A random variable has its range ={0,1,2} and the probabilities are given by P(X =0)=3k>,
P(X =1)=4k—10k”, P(X =2)=5k—1, where k is a constant. Find P(0<x<3).

I I 8
1)— 2)— 3)—
()9 @) ()9

A random variable X takes the values of 0,1,2.It’s meanis 1.2. If P(X =0)=0.3, then P(X =1) is

(1)0.3 (2)0.5 (3)0.2 )N
If the sum of the mean and the variance of the binomial distribution for 5 trials is 1.8, find the binomial

distribution.
@) E;g §§ B g%g ?3 @ g%g ?3 |
SO 850 ‘PR30 830 30830
15

@l

(DE % ¢ Eg ..
B55 850

If the mean and variance of a binomial distribution are ? and E . The number of trials is

(1)s5 (2)4 3)16 (4)20

10) The probability of a success in a Bernoulli experiment is 0.40. The experiment is repeated 50 times. The

mean of the binomial distribution of the number of successes is (1)12 (2)20 (3)30 (4)35

11) If X is a random variable in which distribution given below

X 2

-1 0 1 2 3
: 0.2 2c 0.3 ¢

P(X) 1 c

The value of ¢ and variance are (1) 0.1, 2.16 (2) 0.01, 2.16 (3) 1,2.16 (4) None of the these

35 35
12) If the mean and variance of a binomial variable X are respectively ?and 36" then the probability of

5?

1 1
X> 6is ) 2 @) ¢ 37 )9
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13) In a binomial distribution the probability of getting success is Z and the standard deviation is 3. Then

its mean is 1)e 2)8 3)10 4) 12

14) Suppose X follows a binomial distribution with parameters nandp, where 0< p<1. If

P(X=r) .. .
m 18 1ndependent of n for every /', then pis
(1) ! (2) ! (3)l (4)l

2 32 4 8
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12 STD Chapter 12 MATHS

1. Identify the open statement

(1) x is a real number (2) Wish you a happy Pongal
(3) Good night to all (4) Can you bring a book?
2. Which one of the following is not a statement in logic?
(1) 7 is a prime (2) « isirrational
(3) 9 is an odd number (4) Social Science is interesting

3. Let p=A has passed the examination ¢ = A is sad. Then the statement : “It is not true that 4
passes therefore A4 is sad” in a symbolic form is

1) —p—q (2) »—>—q @ —(p—>—q) @ ~(p—>9
4. The converse of the statement: “If it is raining then it is cool” is

(1) If it is cool then it is raining (2) If it is not cool then it is raining

(3) If it is not cool then it is not raining (4) If it is not raining then it is not cool

5. Which one of the following is logically equivalent to —p v —g?

1) —»r—q (2) ~(prq) Q) ~(pvaq) 4 pvy
6. The proposition p >—(pAg) isa

(1) tautology (2) contradiction (3) contingency (4) either (1) or (2)
7. Let 4=1{20,30,40,50,60}. Which one of the following is not true?

(1) x € A such that x+30=80 (2) x € A such that x+20<50

(3) x € A such that x+20<90 (4) Vx e A such that x+60>90

8. Let R be the relation over the set ¥ x¥ and be defined by
(a,b)R(c,d) <>a+d =b+c. Then the relation R is

(1) Reflective only (2) Symmetry only

(3) Transitive only (4) an equivalence relation
9. Which one of the following define on R’ is not an equivalence relation?

(1) (x,y)ERxR<>x>y (2) (x,y)ERxR<>x=y

(3) (x,¥) eRxR <>x—y is a multiple of 3 (4) (x,y) e R+R>|x—y| #neven
10. If 4={1,2,3} then the number of equivalence relations containing (1,2) is

(1 2)2 3) 3 (4) 4
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- 'g:h- .'ﬂ #'J't . =L T4
| - 2digg-
l Area IHC!“ J -.Ir'_'-. da = 1[.—.._) -'L[f!- ] 'g'(i' 1)
I E‘rﬂn - a8
A

- = — g ——

The verlem u}'— fa parnl:olu 2= Ea l 15
ol Sai—Jx’—ntg )
(‘I 0)'= 402) (y-4) »(n-h) = 4acy-k)
vevien = (h, k)

l;ﬁﬂt "'(_ﬂl-bJ_]

1.‘&'.'- ®Yzk, yziex -0
. Iz=%+k, shope of normal =-1, sﬁupa. of tangent =)
1 2
. g-uua_}.:l;_d=_g_ /
‘ e J ?5 13 'J'a% 4
| y > l=3]
! O = FJ':IL‘R =y -n__-.Fi'. E
1' K=nty = 4a9=)2 -
— i

'“"i 1§ Fox) = 2L Then its dliffevential fe '3ivm by =T
| Eh + = - . = M=l i -
| (%) :! )y = .;:;. _:l#_ :hﬂl,::_}r? N
: 3 M -k ~ -
| = (0t ajm%’j
. Tha valua u; { iog{ ) dx
| I
|Es oln S J_g,,s(_w__)d,._,@ 1 J ja‘”‘flﬁf'r;) dx jﬁ:ﬂ LJ:;I)J:—a@
' m@)j-ﬂvfy{ ) +leg (LX) o -
= Ij"ﬂ (F-'i x l::i) "“-‘!h&ll]dx
21 = p [har:n]
-
12}

If me mgan n.fﬁ-fainumia.l Jfﬁhiguﬂun ic Sand ita varianeg i
Than me value 4

of nand p are
Soln .
E __— B

P=5, npg =4 .
= V=% r: K
DNCeh)=5 E:é;]
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13| The aclJaml °jV\RAﬁN‘P£ag§"” ﬁetu [ ‘.\'N\&MT]b,ﬁ%?C.lgbnt?Tﬂn value ts) of
the doley minant Pis

| sl ladjp) = IF'IH.I n=3, |
| ladjpr=1p1? = 1pl = Jlucl:,l.p| l

lndjp) = [17 :’ = =101-4) - 201- 4) yagga-3) |

a : |

=3+6
o - Jqaes
Y| I x s "—'—"F—Thn tha value of Wt At - 1!
s “:"-'Lli’-' Wz1=ii . alsy =0 (- D |
R

1s.| If Pexy4) be any poiat on frmzﬁu?‘: 36, Thun the sum °f rus eliskancas

)
of p fvom tha Pumfa LEio) and (-vg,0) i$ P
soly:- 4x’yay" = 3L \ .
- U [ -
-3—--!-_!1.1;:;:) a?‘:q hl:q.. 5 oy
9 % hoog
Spt &p = 2a
= = a(3)
spisp =6b
Loordinate anez

16 .| 1§ the plune xtdy +x-8 =0 has. equal interepts on Mhe
The value of o is . L
' b X ==
m' x+dytz =B 8= 8 *g"u B
Heve a=8B b gy <=6

Given , Jnm':unpﬁmﬂi ] o 5,'{(

\1.| The solution of Me differential equa}l'nﬂ %% ze"y2 s
soln . dy =(e*+2) dxn
Jdy = f@*+2)dx

Y = eX32n+cC

18| I Aisa 3x3 malyin Such that |3a:ﬁn| =3 Than |Al isequcd-tu j

i o -
' i—h |&‘ﬁddﬂi=3 .. Iknl:= Il:!lﬁl)' |
) adjnl =3 « - .'
- n=1
278 = 3 ¢ o 1edfpl = aal ) :
\ Z
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R0

2!.’ The .5|nre 6f the wine 33-1:3‘;1,, at Hu Fn'ln-l_ whaye Yy=12 IS

S

ue o 5
s0ln WWW'P&Qasalalﬂeﬂ G "V\}WVQTI’B T\')psc’corln of 2.

The anis E_f rho Pn'rﬂl:o!a Ej-—lb‘-fﬂ‘!—:.j_n .
5’& ul- 1y+8n-13=0 =) (H-l)t= - 8(w-3) |

sinte the axis of mae Pnra.bﬂlﬂ is ®axis =
y-1r=o

b=1]

é_& 33-151:#- -0
Whon y = 2@ o =) 4
Diff @ wer-t . 3Y %‘-*‘“3 1 -4 =

% (331 -12y) HL’i ;]_ J._

3y-21Y

stope 3wy =, = E =4

Tha PD'”L of 'ﬁfllad'mn of curve Y= &-D 15
b 3 :51'.:'--1.) oy ho k-t y'=g=) n-I=" EJE]

whan a=| =) Y=o . Th« POlﬂL o} in;—lﬂﬂhﬂﬂ 1s 1:0)

The wntinuaed p‘roduct o} nw fuwr values of (wos %-Hﬁm /{3) +
'-.5&1. G.ls %}* (i’-l&'l)nf-us{lm:)? K=0,1,2,3

Product of ha voots = (cis ?J(Lls ") (e1s B'%J(cm '_'.E)

= “'5‘5“'1-1— +i:E“+'J_)- tru'.t.‘."} cisl4m) |
Product B}hm vooks = ""“-"t“fl!nhbu} = 14ite) =1

A
The value of [ SIM% dx s

soln
= _J

b fex) = Sinx (=) = Sin(-%) - =Sinx =f(a)
14wt

A4 Lonl-n) 1THloEn

"~ #2) is odd funchion j;h' Sin», 4» :ﬂ-

—?1 14EN

Thu @quakion of tha plang passing I-h-,puﬂ;, (3,4,5) and pavallel romuplan
A+31y-22-9:0 I8

300 The vequired @gn is njmhrm u:g 2z +K=0, Bub it passes thugh(s,
~ rray-zz-120)(0v) a4y -222)]

-IF":_ itEps l

bt A
be a apon - smgu-ln'r matyix Then whith ona

% («) (ﬂdJﬁJ

of ma }n'lwma 15 fuls;_

(B) I is an n'r'l'ho&:mn] maty) x

(©) adj(ad
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